F1Eb SiREREERR 4A17H (1) R IIHERE LRSS

S 281 EEIER] iR (ER) iR (ER) iR (ER)
&R —HE| 3 R DNS  (+1.4)
faH 2|3 R DNS (+1.0)

g 1BH 2 R 11"48 (+1.0)
PERAAR 1E| 2 R 11"40 (+1.4) *
100m M| fE | 1 R 11"95 (+1.5) %
SR g 1 11"88 (+2.0) %
/A T2 8 DNS  (+1.4)
Kk B |2 R 11"48  (+1.5) %
BA fEE | 1 R12"14 (+0.7)
200m hE EEE| 3 R 23"66 (+1.3)
300m & 2|3 R®  DNS
1500m PFEE KBZ | 2 R 4'20"70 b 3
110mH AR & 3]1(3R 16"09 (-1.1)
&I LK 2| 2R 20"14 (-1.1)
T EA| 2|1 3R 4m60 *

— o b= KA1 23[R 4m30 *

BER el mA 3[4 [®R amio
HEY @#EgE| 1|8 )R 3ml0
= A< | 2| 1|R 6mMO00 (-1.0)

EE (B SEAl 2 2[5k sm97 (-0.4) %
B E#X| 2|3 |/R 5m62 (-0.3)

RN % =B &AK|2]1[® 12m11 *

oAy ZM fBA| 2|1 [k 34m57 *

* (B DR F- LS
o= 2T RReHIEL 25 (AR) 8% (FE) 8% (AR
100m |EM k| 1 R13"37  (+1.1)

200m YN Z|13|1R 26"71 (+1.8)

100mH MmE UED |1 R® DQ,54
10 0mYH a8 2£=|1|2 ;R 16"87
it B4 | 3 & DNS
300mH mAR fHR | 2|13k 47"96
HS #WiE| 2|2 [k 50"09
HKEOEW| 3 RONM

EEk BT i | 2 R NM
ME &5 |1 RONM
rE B[ 3|22 2m40 *

. Ha | 3 RONM

BEE Cle mm| 23 % 2mao
=R XE| 1|4 |R 2mi0
XK&E 25|22 |R 4m74 (+1.1)
mEE m¢E | 2|3 [k 4m73 (-0.4)

iRk =M %;f 2|16 /3% 3m62 (+0.7)
AR ¥#iE|[ 21|32 5m03
KB | 1|43k 4m70  (+0.7)
HE a3 s DNS

= ESPK At k| 3|4k omos  (+1.8)

PG =B ?}:7& 11 *19% 8m94
R g1 23R 8m19

x [FECHHECEK - F— AFscHR




